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QUESTION 1

A SOAP-based Web service is essentially: Select the correct answer.

A. solution logic that can only be accessed via HTTP methods

B. solution logic accessible via binary RPC protocols

C. solution logic that has been shaped by service-orientation design principles
D. solution logic that can be accessed via a published WSDL definition

Correct Answer: D

QUESTION 2

Each WSDL can define a set of and/or messages
to express data exchange requirements. Select the correct answer.

A. operation, type, RPC

B. operation, input, output
C. function, type, RPC

D. function, operation, type

Correct Answer: B

QUESTION 3

XML schemas are comparable to database records. Therefore, XML documents that are based on XML schemas are
comparable to database data models. Select the correct answer.

A. True
B. False

Correct Answer: B

QUESTION 4

Messages transmitted using WS-ReliableMessaging are typically into
Select the correct answer.

A. decomposed, HTTP methods

B. parsed, WS-Policy definitions
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C. grouped, sequences
D. converted, comma-separated-value (CSV) files

Correct Answer: C

QUESTION 5

Orchestration is most commonly associated with which industry standard? Select the correct answer.
A. WS-Addressing

B. XML Schema

C. WS-BPEL

D. WS-Policy

Correct Answer: C

QUESTION 6

MEP stands for: Select the correct answer.
A. Message Extension Pair

B. Message Exchange Pattern

C. Mixed Entry Platform

D. Mixed Elevation Program

Correct Answer: B

QUESTION 7

WS-BPEL is an XML-based language that can be used to define business process logic that can be carried out via the
composition of SOAP-based Web services. Select the correct answer.

A. True
B. False

Correct Answer: A

QUESTION 8

Which of the following statements is false? Select the correct answer.
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A. Services built as components can expose a non-industry-standard technical service contract.
B. Services built as components can be assembled into service compositions.

C. Services built as components always have a decoupled service contract that exists as a physically separate XML
document.

D. Services cannot be built as components.

Correct Answer: C

QUESTION 9

Which of the following technologies can be used to establish a federated data architecture capable of exposing
standardized data models while abstracting disparate data sources? Select the correct answer.

A. XML Schema
B. XQuery

C. WS-BPEL

D. WS-Federation

Correct Answer: A

QUESTION 10

Services hosted within an enterprise service bus cannot support asynchronous message exchanges due to the
limitations of message routing features built into enterprise service bus implementations. Select the correct answer.

A. True
B. False

Correct Answer: B

QUESTION 11

Which of the following statements are true? SELECT ALL THAT APPLY
A. A service can exist as a component.

B. A service can exist as a SOAP-based Web service.

C. A service can encapsulate one or more components.

D. A service can encapsulate one or more SOAP-based Web services.

Correct Answer: ABC

S90-02A Practice Test | S90-02A Study Guide | S90-02A Exam Questions 4/6


https://www.passapply.com/s90-02a.html
https://www.passapply.com/s90-02a.html
https://www.passapply.com/s90-02a.html

VCE & PDF https://www.passapply.com/s90-02a.html

2024 Latest passapply S90-02A PDF and VCE dumps Download
P-

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

QUESTION 12

SOAP-based Web services can be designed for use within traditional RPC-style distributed solutions or for use in
service-oriented solutions. Select the correct answer.

A. True
B. False

Correct Answer: A

QUESTION 13
Which of the following statements is true? Select the correct answer.

A. An initial sender is at the beginning of the message path, whereas the service consumer is at the end of the message
path.

B. An intermediary service transitions through the initial sender role when it invokes another service provider.

C. An initial sender is the service consumer at the beginning of the message path, whereas the ultimate receiver is the
service provider at the end of the message path.

D. An initial sender is not related to the message path but is instead a part of hybrid service component composition
sequences.

Correct Answer: C

QUESTION 14

Which of the following statements is true? Select the correct answer.

A. Service agents are event-driven programs that always have published WSDL definitions.

B. Service agents are event-driven programs that are automatically invoked to perform intermediary processing.
C. Service agents are event-driven programs that are used only with asynchronous MEPs.

D. Service agents are not event-driven programs.

Correct Answer: B

QUESTION 15
Which of the following statements is true? Select the correct answer.
A. Service activities represent runtime activity that occurs within the underlying service logic.

B. Service activities represent design-time message exchanges that are established between SOAP-based Web
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services and defined as part of the operation definition within the WSDL definition.
C. Service activities represent runtime activity that occurs between services.
D. Service activities represent runtime activity that occurs between complex and simple XML Schema types.

Correct Answer: C
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